Tavola dei quantili x2(n) della legge chi-quadrato.

P(Y < x5(n) =

conY ~ x2(n)

0.01 0.025 0.05 0.95 0.975 0.99
1 0.0002 0.0010  0.0039  3.8415 5.0239  6.6349
2 | 0.0201 0.0506  0.1026 5.9915 73778  9.2103
3 | 01148 0.2158  0.3518 7.8147  9.3484 11.3449
4 | 0.2971 0.4844  0.7107  9.4877 11.1433 13.2767
5 | 0.5543 0.8312 1.1455 11.0705 12.8325 15.0863
6 | 0.8721 1.2373 1.6354 12,5916 14.4494 16.8119
7 1.2390 1.6899 21673 14.0671 16.0128 18.4753
8 1.6465 2.1797  2.7326 15.5073 17.5345 20.0902
9 | 2.0879 2.7004 3.3251 16.9190 19.0228 21.6660
10 | 2.5582 3.2470  3.9403 18.3070 20.4832 23.2093
11 | 3.0535 3.8157  4.5748 19.6751 21.9200 24.7250
12 | 3.5706  4.4038 5.2260 21.0261 23.3367 26.2170
13 | 4.1069 5.0088 5.8919 22.3620 24.7356 27.6882
14 | 4.6604 5.6287  6.5706 23.6848 26.1189 29.1412
15| 5.2293 6.2621 7.2609 24.9958 27.4884 30.5779
16 | 5.8122 6.9077  7.9616 26.2962 28.8454 31.9999
17 | 6.4078 7.5642 8.6718 27.5871 30.1910 33.4087
18 | 7.0149  8.2307 9.3905 28.8693 31.5264 34.8053
19 | 7.6327  8.9065 10.1170 30.1435 32.8523 36.1909
20 | 8.2604  9.5908 10.8508 31.4104 34.1696 37.5662
21 | 8.8972 10.2829 11.5913 32.6706 35.4789 38.9322
22 | 9.5425 10.9823 12.3380 33.9244 36.7807 40.2894
23 | 10.1957 11.6886 13.0905 35.1725 38.0756 41.6384
24 | 10.8564 12.4012 13.8484 36.4150 39.3641 42.9798
25 | 11.5240 13.1197 14.6114 37.6525 40.6465 44.3141
26 | 12.1981 13.8439 15.3792 38.8851 41.9232 45.6417
27 | 12.8785 14.5734 16.1514 40.1133 43.1945 46.9629
28 | 13.5647 15.3079 16.9279 41.3371 44.4608 48.2782
29 | 14.2565 16.0471 17.7084 42.5570 45.7223 49.5879
30 | 14.9535 16.7908 18.4927 43.7730 46.9792 50.8922



